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Question No. 1 R Iy
Which of the following has large specific heat 2 $ o) or? 27 § S et ditn| L

PHYSICS

Mercury qf 7 (D) Water G!; {C) lce iz (B) Copper ¥ (A)
............ = (V) 5if Qa7 s & it v 2

Volume thermal expansion of solids (V) =

V,(1+p4T) (D) V. + B AT () V, (1 +aAT) (B) V, + a AT {A)
Rate of flow of heat = e = P L 7 3
2
g-t— (D) axt (@Q < (8) axt (A)
<&
Least count of digital Vernier Callipers is o% -2 2 b’)#’ s JEF | A
1 1 1
mcm (D) @cm (C) 100 ™ (B) o &m (A)
In third equation of motion 2aS + V,2 = e @ 2aS + V. = Sl U e J g7 5
. <>@ t (D) t (€ V; (B) Ve (A)
Coefficient of friction (7). i B (1) a2 '(' j" J1 6
R Fs
FsR* (D) Fe @ RREA

P enplg /L SIS L Ll T

Torun, wh’at is needed to push the ground backward ?
Friction u’( 7 (D) Acceleration J"')'-(J (C})  Weight ¢ (8) Momentum f‘f ¥ (A)

S.1 unit of torque is. - g e st 8
Nm (D) Nm? (€) Nm’(B) Nm? (A)
The value of ‘g’ atthe surface of sun s _.;.Jx.-».’d' ‘8’ 4 ngu' 9
9.8 ms™” (D) 274.2 ms” (C) 25.94ms” (B) 8.87 ms” (A)
PR Y A—f Ss Ve §78F7 g |10
Work done by a body due to its motion is equal to -===-------="" of body.

Velocity ("t (D) Power s (C) Kinetic Energy &}I,E-'JK(B) Potential Energy &Jtd"fg (A)

One horse power is equal to ¢ bt Azl U4 | -11
674 watt (D) 647 watt (C) 476 watt (B) 746 watt (A)

¢ g b S 2§ 2 L Lk o ¥ | 12

What should be the approximate length of a glass tube to construct a water barometer ?
0.5 m (D) 1 m (C) 2.5 m (B) 11 m (A)
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Q. N0.2 Write Short answers to any five of the following 2x5=10 -;é 4)’ =42 ;‘ L iz é!; r_éf L/.jdlr
Define Scientific Notation and give example. ‘ S o S ohig il (j)
What do you know about Geo — Physics ? SWZb YV Ler LS o | (i)
Estimate your age of 15 years in seconds. a0 L ua K 156208 | (iil)
Define centrifugal force. PSS | (iv)
What is difference between action and reaction ? ..2_.&0} 94 u"'-‘-’ldj 2l f{! (v)
What would happen if ali friction suddenly disappears ? TEnf I n f’ £l FId (: Py (vi)
What is meant by the force of gravitation ? Te iy Ve 97 ug dgf (vii)
Define field force. ZE/ § v (viii)

Q. No.3 Write Short answers to any five of the following  5x2=10 -'4{4; .-413/‘5"{_.:2: 55:_&( 3-/=/.Jlr

-ét’)k O LA AN s or L Jf.g'iji JJI]
Define a graph. Differentiate between independent and dependent variables of a graph.
Draw distance — time graph for a body at rest. itk .Jlf("? = del é_'f(’ ind,
Differentiate between Scalars and Vectors. -,é vk 3/ dien £ J/‘..r: al 3K

~Z b g 400 gagl KA £ pds 200em® i | (iv)
The mass of 200 cm® of stone is 400 g. find its density. @
State Archimedes principle. @ -2 gk U K Ut (v)
Why is water not suitable to be used in a barometer ? X i Jasy u:[ b Je 2 Hog s Jl‘ (vi)
, S tn KO} L wl sy Lot U 0 Ltz | (vid)
How does rate of flow of heat vary with the temperature di etween the ends of a solid ?
Write down the names of four faces of a Leslie’s cube. | -2 F Ly e § o by | (viii]

(i)

(i)
(iii)

Q. No.4 Write Short answers to any five of the fW 5x2=10 .25 4/’ =2 /‘? Lz i'!; c..(jf L/:}J!r

\\g ?Jn 13 J,_.,:IJ Ues C}'/J. » Jd{-_ﬁ-éul’/’ Jt{

wo forces of a couple ?
Y ] s
B o ool 3 S AN 4 Fy=6N sl F =8N L L F Ui
ifF,=8NandF,=6N, findth nitude and direction of force F .
' s F 8N S WS ento b0 § P en LS 7 i sl § Bt B K
Write down the equation for Kinetic energy. !f velocity of a moving becomes two times, what will
happen to its Kinetic energy ?

S b i S e v b I 150m b er S U (Pl ¢ 0SS 4 7 i d 200N

A force of 200 N acts on a body which move 150 m in the direction of force. Find the amount of work done
Write down any two renewable energy sources. w4 L B £ G0 a8 S6

gy J;,;’L‘k“u;'!m.,k‘w)-’f,@;’ 122°F

Convert 122 °F temperature into temperature on Celsius scale and Kelvin scale.

Define couple. What will be the angle b
State the principle of moments.

What is meant by internal energy of a body ? On what factors does it depend ?

Seq i S AN Yo e B Jad 2 (viii)

(i)

(ii)
(iii)

(iv)
)
W)

{vii) &

Part — Il pgddsa>
Note: Attempt any two questions from this part 9 x2=18 _’éf_;’ wli Ly s r_Jfa.J ~Jl

Oy

Drive the formula to calculate the orbital speed of artificial satellite near Earth.

4 S B LS (o by ST f L oty S g5 (A) 5.4y

5 ?Jn :u;/"‘;u'/!. (}rg’. L Ll L J} J/';l by cvﬁ)“f! L st'zfu'l & 20N @i f()' .._fl (B)
A body has weight 20 N. How much force is required to move it vertically upward with an
acceleration of 2ms™” ?

What measures do you suggest to conserve energy in houses ?

a TL;{/ZK’@U}I:,U[&L!W‘L&}IU:U:/VT (A) 6-AUir

5 -2 P/‘./,m,z..xu_;c_wi‘fzonJu.z!/,wq.mmm;_fv..{lJufq_ud/:/éu;rg;.{l (B)

The head of pin is a square of side 10mm. Find the pressure on it due to a force of 20 N.

Define evaporation and write factors that s rate of evaporation in detai

4 % étd'lf SMILEIS £ w"qff'ﬁ 2 37 § Fagn (A T-AUr

5 e Siions g £ U1og st il § 30° A1 £ i-x v S 50N [(B)

e _E AR el mm mmreln Af 200 wdibha v Aavie
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bubbles will result in zero marks in that question

NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or more

ed expressed in ms™ is

A 25 ms* (€) 20ms™ (B)

Inertia depends upon.

Veloci (D)~ Mass Ui (C) Netforce Jhse (B)

3

Which one of the following is the smallest quantity ?O 2 U o o A5 o"f:;. SLite | 4
5000 ng (D) &
¢ Snyf 1y

A train is moving at a speed of 36 Kmh*
30 ms*

pg (€ 2mg(B)
ms? o i 7 = by § 36 Kmh™ 22 £i| 5

Two equal and opposite forces in the same line 7 & xl sbn s LfJ’4 JU Ll 2 (C)
Two equal and opposite forces not in the same line dlﬁf; J" 4 U F L 71.5 I sl 2z 3 (D)
-4.3146)4(!)!/‘2:&1_14:&14—&}5:‘2& ‘g’ 9

The value of ‘g’ at the height one Earth’s radius above the surface of the earth is.
lg el e® 28

S b i S 2§ 22 & LS om ¥ L

What should be the approximate length of a glass tube to construct a water barometer ?

Question No. 1 1_£Jir
Water freezes at. —g- bl I 4 ,é/;} g 435 -1
‘ 0K (D) -273K (C) 32 °F (B) 0°F (A)
When Ice is cooled below 0°C, it wig bl 1k & < 0°C foser| 2
Evaporate 4.6’-.:4116: {D) Melt q..D“g (c) Expand q_d*-‘ (B) Contracts 4_5/‘ (A)
In solids , heat is transferred by. - ¥ a7 Joi 2 e u’ﬁ -3
Absorption iz (D) Convection u’-rif (C) Conduction ( Radiation #i§1s (A)

0.01g (A)

10ms* (A)
- MK es| 6

Force U4 (A)

-4 u:'dujcq.l,zlgy’!:—u J 20 N s S L gepsd S PO EA . U

A string is stretched by two equal and opposite forces of 20 N each, the tension in the string is.
' 20N (D) 10N (C) 5N(B)

A couple is formed by. ' e T J K| 8
Two forces perpendicular to each other 715 oof 4 oy Ll (A)

Two like parallel forces 79 Jis Fu » (B)

Zero /* (A)

$€n Jos yfucu,L.sdAJsm:_g:w,gJﬂfh 5{

The work done in lifting a brick of mass 2 kg through a height of 5 m above the ground will be.
1000J (D) 351 (C) 100} (B) 10J (A)

The speed of light is. 4 - M 1!0‘,1 -1
3x10® ms® (D) 3x10° ms? () 3x10° ms® (B) 3x10° ms™ (A)

:

- AL w ) 1mi(B) 11 m ‘A)fi j
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Q. No.2 Write Short answers to any five of the following 2x5=10 -.é .qf 1Y 4 /g L iz éj‘ .:.Jf L/du

Differentiate bgtween base quantities and derived quantities. 2 e OF LU B3F sl Y G| (i)
Estimate the age of 15 years in seconds. bR un¥ U 15 {ii)
What is meant by vernior constant ? Ty Ve 2ty Fan (iii)
What is difference between action and reaction ? ~&b J/ vf{ld/ sl u’-’l (iv)
State Newton’s second law of motion. -ZE e I L K P K| (v)
Why it is dangerous to travel on the roof of a bus ? T b SE@ ULt p g A (Vi)
Why law of gravitation is important to us ? Te (i udd eyl ¥ o $¢f (vii)
What is Global positioning system ? : fe W By o (viii)

Q. No.3 Write Short answers to any five of the folloWing 5x2=10 -’é:d w2 }? LAzl &k‘-d[ 3_/‘)!:

Differentiate between Scalars and Vectors.

Why vector quantities cannot be added and subtracted like Scalar quantities ?
Define linear motion and circular motion.

Differentiate between stress and strain.
Define deforming force and elasticity. - <<§,>

-éc&; Il oien £ )f’.r: B A (i)
t 0 S UL LS S U A£G G S ui 2| (i)

-é.—i’i({vf‘r’}/ul (f)"):“u" (III)
A wood block floats on water why ? fud e b2 4 (3& EX{ {iv)
@ “& SR Gr AR ()

-—Q/’Jui“;‘“l&l S JA&! (vi)

Define land breeze and see breeze. O EaSd YA ol Y pasd {vii'
What causes a glider to remain in air for a long period ? {f&ﬁ\ el ¥, Fokinl 28 L (viii‘

Q. No.4 Write Short answers to any five of the follmgi\?i@ézlo .é 4;’ =R ALz 5& c..Jf 4—/‘)’)

oS

- el Sk LS e B
A mechanic tightens the nut of a bicycle usin @ i3
o

find the torque.
or be greater than the resultant vector ?

ong spanner by exerting a force of 200 N,

Explain center of mass with dlagram.
Can a rectangular component
Write the three natural causes of air pollution.

Name any four devices that convert electrical energy in to mechanical energy.
Relate thermal equilibrium with daily life.
Convert 900 K on Kelvin scale into Celsius scale.

) ..iulb:&dl...ﬂﬁ.’c.u JP| i)
Te Fx 13 < Liise ¥ UI%-"I};;-(J L] (i)

ﬂ&c.ukf}‘¢15cmfﬂdzi‘;200~uﬁ:t-g (i)

ystem. “E L LTS (i)
. -54)’ O 4] JJJ:" cf L Lf»'T Jlx (v)
BLS S A CASE G KB et b £t 21| (i)

-"f':'-w = Jﬁi Y2 fﬁﬁ'd)ﬁ IJ'/ {vii)
LEE e A JE e £ JE 0k 900 K (vii

Part — Il pssda>

Note: Attempt any two questions from this part 9x2=18 2% ;7 ez L eliy v e f o Ui 1l

A train starts moving from rest with an acceleration of 0.5 ms™. Find its speed in Km h™?,
When it has moved through 100 m.

4 L B U A Sl s S 25 3 P S U S (A) 5-AUly
Define centripetal force , give an example and also derive its formula.
5 ‘ ¢ S iy KA b S 100N £ (2 i £ i1 S¥ 50 [(B)
Find the acceleration produced by a force of 100 N in a mass of 50 Kg. .
4 ‘ _éfw’l ohsls L}V ¢ Z ‘ﬁ“ujuiﬂ in2 S U S ule £ ;F& (A) G-ﬁld"
Using Pascal law derive mathematical equation for hydraulic press. _
5 S Lo Li¥100m & 8/ Lpth e M L05ms? & b e o i |(B)
¢ for | Kmh gy

4 2 b i e s Oisiss g b £ Ju St [(A) 7oA Uiy
Determine a force from its perpendicular components according to the head to tail rule.
5 _gE o B4 0 S U1 & 20ms™ Ly S 3 12 kN i |(B)

A car weighing 12 KN has speed of 20 ms™. Find the Kinetic energy.
N

AE ICh) 1St Aminiia 1 3n24

A |
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f)fu"w,«lﬁu.{ 1ng2 . Lf 4/ ey 4:( UsFomsl e gl 229 A a.g&&)’llfub,k‘fdlb

1}‘)1}

Mass of water molecule is. | ‘ < bR,
| ix10%g (D) 20x10%g (©  6x10Mg @)  6x10”g

Which one of the following is the smallest quantity ? ¥ b e dibr 5 O e L LS

5000 ng (D) - 2mg (O 100mg (B) 6.013 @ |
| Which of the following i a veoter quantity 7 e i ofetdipn
| . Power #{ (D)  Displacement &% 3 (C)  Distance A% (B)  Speed 4y < (A)

whichgf&m following is the unit of momentum? e r e AL
Ns™ (D) Kgms (c @C@ Nm (B) NS W
Secondcondmonﬁ:reqmlibnummrepmsmtedmﬂhmamallyas L %ﬁw\o{_ry V. ,;uubqvn;u/u;r EAus
YF,;,=0 (D) % © YF=0 B XT=0 @
<+ Fe Tt ad §ifo e ik M n
3 (© 4 (8  Anymmber LIFSS W
- Cngs LS WIS A
The value of ‘g’ ata height one radius sbove the surface of the Earth s, |
g @ 1 © 8 ® 2g (W

'I‘henmnbu'ofﬁucesﬂmtcanbeaddedheadtotailml
Q

The work done will be zero when the angle between the force and the distance is. q_rn,,uuwémaow),.zfxf.ﬁs :

90° (D) 180° (C) 60° (B) 45° (A)
In which of the following state molecules do not leave their position ? 3 EF -4 ‘-;‘!ng;’i?ttﬂgbguf Yot
Liquid &t (D) Gas (@  solid v (B Plasma L (A)
¢ & gl DLl 2022 L Lt by

What should be the approximate length of a glass tube to construct a water barometer ?
25m (D) 11m ¢C) im (B) 05m (A)
Wator foczesat. \ | DN ARy T
32°F(D) ok (© -273K (B) 0F Q)
The major sourco of heat energyis. - g L1 G A el $67 3t
Water () (D) Barth /o2 (©) Sum Gor (B  Moon & (A

1

10

11
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- QNo2: Write short answers to any five of the followings.  5x2=10 Z e L tlits 2 A0y
What is International system of Units ? fel?™ S oSy
Define least count and write the least count of vernier callipers. & ety T mgEy P Eassbed | i
Why do we need of measure extremely small interval of time ? f 4.&?,;)[ .m/Jéttf uﬁ:‘k' Jq#éuuu.“ iii
Differentiate between positive and negative acceleration. - D ,c"( P4 TR

b LS et S K 100 212212 GG | v
A sprinter completes its 100m race in 12s. Find its average speed.

Convert 1ms " into K mh’’ L LRI | v
Define momentum and also write its unit. _F S | vii
Write two disadvantages of friction. Lt Ll P | vii
Q.No.3:  Write short answers to any five ofthe followings.  5x2=10 Z e e tditn 314Uy
What is global positioning systom ? | S By SF | i
Define gravitational ficld strength. e
What is field force ? S Qnf W | i

Ly 4.?/ J; /i LI u):zalﬂ&zw}ik iv
How Moon is far from the Earth and complete one revolution in how manydays ? (O,
What is meant by the force of gravitation ? A f il /i e S I | v

.zlfrﬁvwaw&dﬁ& 3m S Ll S K50 | i

A body of mass 50 Kg is raised to a height of 3m. What is its potential

Differentiate betwoen sound energy and light energy. 1D 3 pEHAAEHER | vii
| Define Kinetic Energy and write its formula, NS v WS 2y P SN 8¢ | it
Q.No.4:  Write short answers to any five of the fogo@?/ 5x2=10 P9y O )4 Ld?l&&.:.uﬁd]bn 42y
Does there exist a fourth state of matter? Whn)@@é?v ?{_kru?yhb'db(f gJul'kr i
State Pascal’s law 7 N oL | i
Define matter and write name of its fived Mtates? _Zal et Smz o |
Why does heat flow from hot body to cold body ? te GFud ISP e bte el enr | v
What is meant by clinical thermometer ? ol 2SS |
Why metals are good conductors of heat ? ) ‘_mlnu[ J‘ r‘f uf .;wliuf bs | v
Define conduction. - SV i
Write throe ways of transfer of heat. DLy ELP iz | v
(Part ID (334 |
Note: Attempt any two questions from this part 9x2=18 ey letrnlfat o od
With the help of speed time graph prove that § = Vit+ - L at? S=Vit+= at2 St S ety | W U
5 ¢ S plud L &LI,LJ)J.QII’)(.':.J‘)'(I£ 2ms? S ¢ 20Nk i | (B)
A body has weight 20 N. How much force is required to move it vertically upward with an acceleration of 2ms > ?
143 2 il S Z i8S | W 64U

State law of Gravitation. Derive a mathematical equation for it

5 ek BA B ¢ 20ms™ LedHds 126N i | (B)

A car weighing 12 kN has speed of 20ms” . Find its Kineticenetgy
S AT ALNE N

‘What is Young's Modulus ? Derive its formula.
5 -id* ESEU s g bn 986 °F SRS | B)
Normal human body temperatures is 98.6 °F. Convert it into Celsius scale and Kelvin scale.

13 (Sub) 1* Annual 2023 P
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Loirerne v sz Ly ﬁ44ran-w£4.: DuA,B,C A2 KLy izlia
o bt 2 3L s SL S S Ml S sl ie bl - A il SN 071 380 b

1A Iy
In Einstein’s mass-energy equation, “C” is the. < tS 6 C Leme B NS | 1
Speed of Sound Lx(ST (B) Speed of light 4 f°ss (A)
Speed ofearth Lyt (D) Speed of electron Ly fws &) &
¢ e b b LEIAS S L oS L | 2
Which one of the following converts light energy into electrical energy ?
| Blectric Generator %2/ (B) Blectric Bulb o428 (O
Electric Cell &'/ (D) Photocell £'94(C)
In which of the following state molecules do not leave their position ? ¢ L B Py I E ol S| 3
Plasma it (D) Gas ¥ (©) @ (®) Solid y# (A
Water freezes at O < tecrdig gAY 4
0K M -27@%% 32 °F (8) 0 D
In gases heat is mainly transferred by. % e Wodr JPo L | s
C '7 ¥ ®) Molecules Coltision 5.2 (A)
Nadistion itk (D) Convection &£+ (©)
In solids heat is transferred by. <M JBiteas s | 6
Condution 2 (B) | Radiation IS4 (A
Absorption %121 (D) Convection &7 (C)
Aninterval of 200 ps is equivalent to. e B B 200 7
2x107° s (D) 2x10*s (€) 0.02s (B) 028 (A)
Which one of the following is the smallest quantity ? Seldf e id gl lditn| 8
5000 ng ('{) 100 pg (C) 2 mg (B) 001g (W
A change in position is called. < dWde sty 9
Distance 4o (D)  Displacement it 3 (C)  Volocity ¢ (B)  Speed Ly (A)
Which of the following is the unit of momentum? e W e L s g | 10
Ns? (D) NS (© Kgms® (B) Nm (A
The rumber of forces that can be added by head to tail rule are. - Guf S e ik | 11
Anymumber S dS (3 4 © 3 ® 2 W
Eatth gravitational force of attraction vanishes at. .4.J|,n.,flawi‘}’fdgf ety | 12
1000 km (D) 42300 km (O Infinity {2y (B) 6400 km (A)

15 (Obj) - 1" Annual 2023 SEQUENCE -3 (PAPER CODE - 5476)
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QNo.2: Write short answers to any five of the followings. 5x2=10 ez B Lo Sdits 240y
What is meant by physical quantities? Write its two examples. Aot o pfeunsd® | i
Describe significant figures. Write its one example. e e s | i
What are prefixes ? Write it one example. .g d Jﬁ-.{l Y w{r‘d‘g fii
Differentiate between rest and motion. _iuka)uﬁ J,‘J;l <2 | v
Differentiate between distance and displacement. -q‘{uw/‘;.x:#uwh v
Define uniform velocity. .J -3 /7 J Glhspigy | vi
Define Dynamics. 2y S5 vii
Define SI unit of force. gy desduidt st | vii
Q.No.3:  Write short answers to any five of the followings. 5x2=10 2 fen B Lanbie Ldits 3 AN
‘What is meant by Potential energy ? Tl e GAH qJ"" | i
Write the mathematical equation of Efficiency. -_dr ....quva" o
What is meant by artificial Satellites ? Sesl e Usde S5 | il
.._glb"ﬁ b’d’ U:J?' JTJ LA L.hé‘_:’ Lda .{J'/'épﬂ) iv
Write the formula of orbital velocity of a satellite revolving close to the Barth. AN
Define force of gravitation. A\ & SN | v
What are two conditions of Equilibrium? N\ O ¢ Py ufUEAE | i
When couple is formed? RS ¢ o O S K | vil
Write the principle of moments. <\ﬂ\@ -_2{ Jre | i
Q.No4: Write short answers to any five of the followings. \8x2=10 2 f ez P Lanbie Sdis 4.4y
Define plasma and write its two properties. ~\ Xf -g .:4&4:’ y(ﬂﬂ»lé_& 7 Ji g | i
Define deforming force and elasticity. A@B\) Ry fngigrn2 e IR
Define/ State Archemedus principle. S Lot |
Define thermal equﬂibﬁmnmdtempa;\ W PSERAES | v
‘Write two uses of Bimetallic strip. .g el )'58(’: PRER
Define the rate of flow of heat and write its mathematical form. -_J LleduisgEs /L il iz | vi
Why do we wear white or light colored clothes in summer? "uﬂd-{ d_-}{ L-f/&.ul.*i’uﬁ uxf‘f | il
Define green house effect ? o flatusg/S | vii
(PartID (224
Note: Attempt any two questions from this part 9x2=18 -q’{d uLl!LuUIrqu LU 2d

State Law of conservation of momentum and also derive its equation. 1+3 .2,{»&{ bl lm?,fuyu)w ' /;/'(f(“/ »
5 -q'{r:"‘&{fﬂsd}f&ﬂﬁ ?JJLMWAMM)‘(I[. 0.2ms™ J./Lﬂ, -G 10ms” U’U,JJV..{'

A car has velocity of 10 ms™ . Ttaccelerates at0.2 ms > for half minute. Find the distance travelled during this time and

W5 AJir
®)

Convert 100 °F into temperature on Celsius scale 5

the final velocity of the car.
Find the mass of Earth by law of Gravitation 4 _gﬁ"‘ JWeLie s J 5L} qu! {f \) 6:/:'; Jir
s b LRSS g bpd N ¥ E3sm SSHarLienZ 038 300N $Tfi | (B)
A man has pulled a cart through 35 m applying a force of 300 N. Find the work done by the man.
Why we can use conductors and Non conductors in dailylife? 2+2 ¥ uZ /UL, JWIB’J/ s /ﬂ’ 4 q,}-'d’i)u/)u 7.V) 7:/.Jdlr
£ e LSE AT R 100F (W eui | (B)
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7 F o s, A T P
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1A s

Which one of the following is not a derived unit ? ¢ c%c,f il dlgfe iyl 1
| Watt Ll (D) Newfon /€ (C) Kilogramme Gf ¥ () Pascal g}" 10N

The spinning motion of & body sbout its axis is called ? ¢ c;,&tlf{ b ot L/’( A K~ s’ | 2

Vibratory motion J 44 (B) Retatory motion J ‘8 M (A)

Random motion ¢/ ¥k (D) Circular motiofd ¢/ ~(C)

Which one of the following is a vector quantity ? 3 4—/‘5»1 AT ST Ui L3t 3
Speed 4\(D) Mass JL(C)  Weight ¢is (B) Distance b (&)

The product of force and displacement is called A 4«&'15{ ¥ Lo st | 4
. Work Js (D) Rower | (C) Momentum (}k r (B)  /Acceleration ﬁ)'fl w

Racing Cars are made stable by, : éuuéy&w:;?wwﬁ 5
'Decreasing theirmass L/ /J L @) - ln fasing their speed /boiiy (A)

Lowering their centre of gravity <& (f’ St 4 (D) w~ : @mir width L/ /Glﬁx ©
In Einstein’s mass energy equation, C is\the. ; \ é@ "7l C Uil A L(fJ&UT 6
Speed of electron UI/"l (B *) Speed of sound (ST (A

2
Speed of light 4#¢ o’ Speed of earth L.ﬂfuh ©)
The density of a substance can be found ‘) P .4,6'(’ L(jrl” a6’ | 7
Hooke's Law L;yédib’ B) Pascal's Law L}M‘SU/FL(}’ 1Y

y’ e (D Rrinciple of ﬂoatatlon c.uéd/l[.é_,d ©
e NSk | B

Archimedes Principle <sx(J
Normal human body tempe

98. 6 C (D) 3F©)  37°C (B) 15°C ()
Metals are good conductors of heat dqe 05 | bl H | 9
Big size of their molecules bt 25 LAt &)L(/B) Free electrons ¢/ 22LT (A

_ “"I(D) Small size of their molecules bk 7 LI b (C)
n U1t e S f7 2§ 36 km ™ ]| 10
A train is moving at a speed of 3¢ \,yts speed expressed in ms\_ is.

' ‘f_\301ﬁs4 (@ 25ms” (C) 0ms” (B) 10ms’ (A

o .

( (s ,4—1'1} <Js ALL)(J‘J,I ) Jf[—"}-'ufufwuénf 1"
Time taken by a communigé ﬂﬁﬁbatglﬁte to complete one revolution around the earth is.
: 24 Hours AD) ™ -£ 12 Hours (C) 6 Hours (B 2’ 4 Hours (A)

According o Archimede ‘,_ﬁgii\m&ﬂs equal to. 4O aed§RduLImL i | 12
S35 Weight of the liquid displaced L gndo@edtsd i (A)

Volume of the liquid displaced £ bl LA bd bt (B)
Mass of the liquid displaced - ZyLZELINE by (C)
Density of the liquid displaced (" ‘ﬂjdbé_bl_ ¢ (D)

Py

Rapid vibrations of their atoms ;5 /Lu?

“'x.:'“?.,:r 4
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shott ehevwers (o ey five ol Ui following. ©

i entiefe betvesn Ploens pliysice gnd Geo physics.

DGk~ G2

LB fe i T
i

S A .S
o @ ¢ I o Ty b,
EEe S A P R

i g[8 ey et
e I'E‘Jni@/} P .U(. U‘i i st

oy
7). asa
Pl

N ¢ . . & 3 AN
oS Uilimenlipes’ S0 e gl S B
Why & Serew gauge DIeasures more sccurately than vernier callipers? /
e @ % s % 2 o ; 'éf : ../L-‘A:(‘v. cee
Write the following quantities in standard form. G) 6400km (i 380,000 km &L L Sibii s St |
Define positive and negative acceleration. ..Z'iéj /3 d‘f‘)’gkﬁi sy iv
1 Can s body moving at& constant speed have acceleration - ¢ fx@% 1 d L_n"e‘../ oy i’::,};{y Lf v
Why rolling friction is Jess than sliding friction? ??dx ' U.{ e / Lz ‘e,sf / s | ¥
Define force and inertia. -é._é /J JQ«}MGJA‘ vid
What is meant by co—efficient of siktion? Write its mathematicel form 2{4} J’ dl?(f i Sl /{;M&l{ﬁ@y } ‘f}ﬂ

Q.No.3: Write sho:t answers to a&ﬁve of the followings.

a0 21f it Lizbletiditbn 3Ly

What is meant by nuclear energy ?

' We do not fes! gravitational force of attracti
Differentiate between Potential energy and Kinafic energy.
Define artificial satellites.
Write down principle of moments.
‘I unit of work is joule, define one joule work.
Nhat is meant by geostationary orbit ?
| Define magma.

¢ oL S AA TISL 18P lenL fasr LA

¢ oidplf e GHAE

y? .
£ 785BI
| -éfzéuwjg
~ FUrik
éz-{w,diag sl :;f:
(WP PROY (1] vii
Q\O ’ Eu7 &g il

Q.No.4: Write short answers to any five of the following\sf.A /ﬁ'xiz\;mw/ﬁ lelék'uzdstw 4 AUy

Define pressure and write its two units.

DeﬁneElasﬁéityandsuesé.

What is meant by Young s Modulus 7
What is meant by Heat Capacity ?
Define Latent heat of Fusion and
Define Convection and Radiation.
WhntismeantbyLmdbmweandSeabmeze?
] Whntiathecausemmmninnglidetiniheair

] unit.

FAEINAIEATILY
IR
gt /k(:.-gf‘ o K
PP 7
lé..ﬂ;&.wlltftfﬁﬁs
;Jﬁl dﬁ,;u:lvffir
&(c-d};g M4
¢ q_k( VZ;JJIHLJ}_;L‘

i
il
il
v
v

- gl e SN

vi
vil
viii

ﬁ/ (Part ) pn.#
m this part. _ 9x2=18

_éJaUﬁLadlr» Mo 29

jon and acceleration.

L1100 o0/ LY i N

r

A train starts from rest. It
the end of 100 5.

L2 100 AL Hipinte 50N U ekttt

es through 1 km in IOOB,Wimmifnmacoelaaﬁm.Whatwinbeiuspeedat

4 | () 54Uy

(8)
s bk

5

341 égbadﬁf..{lﬁ t

unstable and neutral fum? Give

5 e N
of a pump which canbe 1ift 200 kg of water

Explain what is meant by stable,

Calculate the

e fs A 6m 21080} 200kg
ﬁgm;_h_mﬂof 6min 10 s.

o i ASEIEn el A | P8R

one cxample in each case.
®

143

s /P 3 ol g A 20N du g

?.;_L'x.;Jll d( A b’ﬁqqld’
jon? On what fictors the evaporation of liquid dopends
-¢-10 mm okl
10 mm. Find the pressure on it

T f_.annlvf AW rep | DT Ay |

;fcﬂ -q—,l«'dﬂ/énwa..g ®)

due to a force of 20N.

fu'g'gnsqumofside
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m’ K -q L-JL' ) “..‘_/: i« L-‘:,;‘.;

oAb a oy s LU B ol P ool 7 5 4t
Lot s B Afid z«uc./tum .ﬁ s r>’~ [ s b
o 7 LAt Yls
&l unit of preseure is Pasceal, which is equal to. Mé@‘éf‘g’f M;-SG{”E&{F/%%@J’;,%‘K f
1Nm™ (D) 10" Nm™ (C) N ™ (B) 0 N ? A
Normal temperature of human body is. L S ﬂf"g’(‘ tﬁg/&;: 2
3r°c (o 98.6 °C () 31°F (B) 5°C (W)
in solids, heat Is transferred by ‘ A AL AR | 3
Absorption fedz (D) onvection Jf;f (C) Conduction ¢/ # (B) Radiation cﬁ-uﬁa(l\)
Least count of vernier callipers is: Mﬁ'd&’u@ Aus| 4
fem (R) 1mm (C) 0.016m (B)  0.01mm (&)
44.:‘:,%4:.»“ "; mcdutzu‘ LBl 3| 5
The branch of Physics which study the intemnal structure of th /'.M is called
Heat =7 (D)  Atomic Physics /3 Lk (C) (- .u (B) GeoPhysics /32 (A)
The rate of change of displacement of a body is %&\ R pEl e Lt S| 6
Deceleration =X (D) Accele ' -J’( (C) \ Velocity 5'ts (B) Speed pr Ly
Which of the following is a vector quantity. <& }é,;yu" frdsge| 7
Power sf (D)  Di ment L (J3(C)  Distahce Ji(B)  Speed i (A)
The unit of force is. i 8
Kilogram (l/ £ (D)/ Joule J2(C) Pascal (f [ (B Newton (/< ()
Inertia depends upon. ' _4be/ wes| 9
_ Velocity (&' /D) Mass UL(C)  Netforce s @) Force Uid (A)
The turning effect of a force is galled. MENG LA 10
| Force /2J (D) Pressure 24(C) Momentum ‘;1( r (B) Torque Jk(A)
The valuevof “g” on the Aurface of moon is. ..4.8:: - ‘g 45 (5;9 11
20 ms/ (D) 9.8 ms? (C) 10ms? (8) 1.62ms” (A)
The energy stored/n dam water is. _+Jndil.ﬁ.jsu-’- , 'g‘f 12
Potential energy &iuﬁ; ® Electric energy § /% (A
Thermal energy /i / (D) Kinetic energy 3/ (C)
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2l

oo .2e Wirlle shorl sngwers (o &ny five of the follovwing. ©12=10 &y /’¢;<:L£;i;f"'c’;,— ,,a'-;a@gécuqi.,;@ 24 (U

£ 7 -4 = ' P “ 4 4 % i
jﬁf(f"‘uf: nm e & jé ey dih&rels Y- Qf,ﬁ[.z‘,s/x mm ¢J L.f,Lf L

1 ) ) N . . - |
| Vour helr grow af fhe rate of 1 mm per cay. Find their growth rate in M & |
s !

o4/ oL it

$ &l /&«":&éft’z Fgus) U

|
\ "é ‘-;-"":f?(j&.u{/" A uﬁé‘ fit
AL

Whet Is meant by verier constant ?
1 o
\ Define the terms veloeity and accelerafion. ,é_! /fi éu‘ﬂ

Define mechanics end heal.

| Can & body moving af constant & eed have accsleration 7 ¥ qﬁaﬁcﬁ)&;ﬁ 24 b Sl 7 e/ vy Wiy
peﬁne uniform velocity and untfo ¥ acceleration. G f7 (5@’- “it4 :ulé' M(ﬁg‘,{ vi
When & gun is fired, it recolls. Why ¢ dﬁ'-q,&if BE s )éé o k&ﬁg&m_ﬁw vit
Differentiate between mass and weight ? Lot il viii
Q.No.3: Write short answers to any five'of the followings. 5x2=10 £ Pl A Lkl dils 3 Ay

Define centre of gravity. Y SEsfoT | i

,é M}J#yjd'lﬁ.fﬂwm.ﬂ i
ez | i

t ¢ dd:!é—(._u‘:d/iﬂcﬁﬁif iv
s ot St
é@ﬁtf)uf»w.‘w‘!i’ o AR
,éu’.vgwlméqiéa,g vil
9‘;:2/(}”4'.,16‘?&16(‘“/ o | viii

Differentiate between like and uniike parallel

State the principle of moments.

Why law of gravitation is important to us ?
Jhat is Global positioning ‘system ?
Jifferentiate between natural satellite and artificial sateliite.

<

Define power and write its unit. &

How can you find the .emciancy of a system ? 1
.No.4: Write short answers to any five of the folluw 5x2=10 £ 7w Ll Sl 4 iy
What is meant by elasticity ? O Sl b” 8| i

<&

What is fourth state of matter ? Define i ,é._g ¥ &1 s ps ul.-)b@zd.,b i

State the principle of fioatation. Ay Alrndz | i
Define Heat capacity and writé 74 eyl Mulé..zﬁ 67 V'{aul! iv
Why Mercury is preferred as a thermometric gubstance 7 g q,é B rud s lL 2 Sy 1655, v

Differentiate between conduction and conyéction. ,édud)u: =7 ;:!J( ¥ | v
1FMP L ¥ hLzir | Vil

Write two uses of non-conductors of he
§ oo i I 4 | Vil

What is meant by Radiation ?
(Part 1D pns &
NOTE: Atiempt any two questiong’ from this part. | 9x2=18 ,éy’ UXL&M}‘»LB’:—U:JU'! o0 |
4 oSS rrerBipmsbs LD cbisn et LS AP | W52y

Find out the relation for accejération and tension of two bodies attached to thg ends of string
when one moves vertically a other moves horizontally

LI LSS é,wzocuq,um/c_‘finbpml,zms"&rdcﬁdu
A train siows down from kmh™' with a uniform retardation of 2ms"' .How long
attain a speed of 20 kmi{_?

Define Torque and expiain it. 143 é.vl&:é’ Ll j§ Sk | W8 /dlr

5 / (g=10ms? _érl"&;tf"4dw_4.mwlidﬁé am A fLUbeXE 50 | B)
A body of mass is ralsed to a height of 3m. What s its potential energy ?_(g=10ms™)

3 xfs0 | (B)

1 EosleryJ 2ol LEFFU A6y | W74y
Derive an ion for thermal conductivity of & material and define thermal conductivity
5 ,éd-iuld‘c s A ). bn98.6 °F £ S m A0 | B

Normal hdman body temperature is 98.6 °F convert it into Celsius scale and Kelvin scale.
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15 = o o PHYSICS 7

2=Af  DGK-41-24 | 5 e/

Sidion 5o b Lot nab i s L xgdfd2-tL s D A,B,C chirfhglra tain

Vot W irofdb i S/ S ML Jusimtafl - Al

1AJy
Amount of a substance in terms of number is measured in q_&gb’L)?PmJutJLo’( 6D

Mole Jr ) Newton /¢ (©)  Kilogram (/¥ (B)| Gram o/ (A

Sntrduigoe o S s Sl Ll | @

A ball is thrown vertically upward. Its velocity at the highest point is

None of these #'d/=- 2wt D)  10ms® (C) Zero }|(B) - 10ms™ (A

Which of the following is the unit of momentum ? L v flsgiir | (3)
Ns' O Ns (© kgms? (B) Nm (A

Weight is a quantity A Lign | (4
None of these '3/ 2t (D) Vector and Scalar A%s% (C) Scalar A (B) Vector 4 (A

The number of perpendicular components of a force are @ q.JnJid"f”f PAN T ML)
. @ﬁi 50 2® 1

Value of “g " increases with the @% & edf“g” | 6)
Increase in altitidue (B) Increase in mass of body |-z W (A)

None 0,

%@d&.}fr_‘m (D) Decrease in altitude <.k (C)

Rate of doing work is called I LS T | (D
<y () Power #(C) Torque JS4 (B)| Energy G/ (A

The energy stored in a dam is S i hLfs | B
Kinetic energy &A@U¥ (C) Potential encrgy SAJ%y (B) Electric enetgy dAMKA) (A
Thermal éxt 2 (D)

The formula of pressure is cUrAfRe | (9)

P=AF. (D) P=§ © P=§ @) F=PA A

ol U e Esig et Ll | 10)

The coefficients of linear expansion and volume expansion are related by the equation
B=5x (D) B=4x (C) B=3x|MB) B=2x(A

Rate of flow of heat is equal to et fdeLladz | (A1)
Q Q R Q
: 2 D) T o i ®) F A)
In solids, heat is transferred by M7 g # | (12)
Absorption ¢*4z1 (D) Convection %7 (O Conduction F¥ B) iation FifLs (A

13 (Obj)-12021-60000 SEQUENCE - 1
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o 45 25 1= ) \7 PHYSICS %
48 =/U/ DC\KA' - (PART 1) gl 4uamn e : 1"/
Q. No.2  Write short answers any Five of the following 5§x2=10 -i(fa«bb’& W7l ‘g :_‘Ab{-,_u 2 /dlr
Define base quantities and derived quantities ._gﬂ{uymiwuuwg 1
Define p-refixes also give an example éa(ﬁ}&\.{l -iqﬂffﬁ{ r
Change 15 years of age into seconds QFJMJMAUM r
Differentiate between displacement and distance iyya)\;.hwmh r
Define acceleration and write its unit in S.I éygb’uﬂwﬁl nl‘..w;ﬂ)“l L
How can vector quantities be represented graphically ? by 4-&!:'(,&6;!‘4%@}5 Y
What is law of Inertia ? o udei | <
Describe two ways to reduce friction Ho2 NEL IS A
Q. No. 3 Write short answers any Five of the following 5x2=10 ..i ;ﬁ»;ux*&tzn ‘L:—th(w 3 /.JlJlr

Define like parallel forces and moment arm

WAL sty N ty| |

Define Rigid Body and line of action of force

ZE A AT dp |

§ ¢t TP A bbby G 2E g Al g T | v

Define centre of gravity. Where is the centre of gravity of a uniform triangular eet

Give two uses of artificial satellites

\

Eopa Wl Sl | »

What is meant by geostationary orbit ?

Q)
s \©

f q_.vl/Lf:.u-‘z;dem 8

)
What is the differences between Artificial Satellites and Naty@%};ﬁigé e

) el I

\v)
If a pump has power 1120 watt , Convert it into horse Sower> FE AL B 1120 sS4 N | <
N
Define power and watt m@ é.aﬂ!ummg A
Q. No.4  Write short answers any Five of }@\f@qﬁ;ng 5x2=10 L Lz Ltstw 4 Ay

What is meant by Density ? Write i&&ﬁm{

Long o s il 4|

What is meant by elasticity ? W

et v

N
Why atmospheric pressure cha ge as we go up ?

g b AL g |

What is meant by thermal equilibrium ?

§ elplle fdslif?) v

Define heat and internal energy

Z A Srusheatr| o

Differenciate between conduction and convection

OIS | 1

What is meant by Land breeze ?

P el il | <

Define rate of flow of heat and write its mathematical form

(_(PARTIl )ppidiaa )

f#qﬁévt{wwé.gﬂ LA Ll | A

g;ﬁavkﬂammadfsw O

NOTE : Attempt any Two questions from this part 9x2=18
Write down any four difference of mass and weight 4 i{)b};b&.d{ﬁu}mldl (A) -Sf.Ulr

5 U IMAL 1€ 5 o &IPS 10 ms? Indere F Mg £ 2 me 2 Kl (B)

A car traveliing at 10 ms-! accelerates uniformly at 2 ms™2, Caiculate its velocity after 5 second

State and explain Newton's law of gravitation

Find the force

4

FE S oL g N S /LK | ()-8 A
5 Zebuid ¢ 20N wid x6d o 0V L b i 30° AL i sl ()

A force is acting on a body making an angle of 30° with the horizontal. The horizontal component of the force is 20 N

having contact area 1.5 cm?2

What is meant by linear thermal expansion in solids , derive its equation ;g)ﬂ&bVJ‘ﬂ -er,t/;{a.ﬂu&waxmuﬁ (A)_7/:U1r
6 SO ALl 16 em? L LEAL S ¢ e PEUOLAS 15 N edhi b | ()

A student presses his palm by his thumb with a force of 76 N. How much would be the pressure under his thumb
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PHYSICS
s

v7

w

/c_gﬁﬁﬁtﬂfﬁ”&Wﬁytzawe'_.dw/’béé_:&lzﬁdlm-{le&.u_ft‘:g.JDJJC,B,A:-QMkLJ‘r/: s

G el eSS S| L

&ﬂ}:ﬁbupc.-.{l - 43

14)r
An interval of 200 ys is equivalent to q.d;bj:ﬂ:?)/.c’l. 200 -1
2x10%s (D) 2x10%s (C) 0l02s (B) 0.2s(A)
Which of the following is a vector quantity q..)-.ruWufc_ddw -2
Power #! (D) Displacement .u“-*u'! (C) Distance J»§ (B) Speed i¢ (A)
Which of the following is the unit of momentum q..b'(b’f" Mgtlpy -3
Ns' (D) Ns (C) ms2 (B) Nm (A)
O lvd Lo Lo A0 e S A
Newton's first law of motion is valid only in the absence of @
Momentum (¥ (D) Torque Lt (C) et e At (B)  Velocity (ils (A)
The number of forces that can be added by head to tai} % q.u;.ﬁbk( uhﬂ&}f::.dmﬁ)&f -6
| Aoy nuiber WYL 0 ac] 3@ 2 A
AL 100kg ¢Lpg 1.6 mst =d gt (LUey -6
The value of 'g' on moon's surface ég);m‘z. What will be the weight of 100 kg body on the
surface of the moon ?
1600 N (D)  1000N (C) 160 ITJ (B) 100N (A)
Rate of doing work Is called BENPSLS Ly -7
Momentum f";‘ (D) Power x| (C) Torque it (B) Energy &/ (A)
........................ ‘;)1._,@65’5",1]"?,,(;6,@,‘[(-& -8
If the velocity of the body becomes double then its kinetic energy will be
Becomes double q.al,mb"» (B)  Remain the same (U2 (A)
Becomes half q_Jlru.iJ (D) Becomes four times 4.431.”«(:5} (C)
S.1 unit of pressure is Pascal which is equal to q_mcmf‘&-_fb:lq_ 5..::'1(/‘..{‘)2‘}";0!(*’ =3
10°Nm? (D) 10°Nm? (C) 1Nm?| (B) 10°Nm?(A)
Ol Sub U sdA LI K e L s 10
Which of the following materials has large value of temperature coefficient of linear expansion
steel £ (D) Brass J%(C) Gold 2 (B) Aluminium @4 (a)
In solids , heat is transferred by 4...'&}‘5’91!!;)@!‘)5((2.!;]) -1
Absorption cf‘v'/l:d (D) Convection u“'{f (C) Conduction J‘(Jf (B) Radiation cf-'ldéz (A)
-12

Which of the following materials has large specific heat q..J'l-
Mercury d)} (D) Water d& (C) lce i
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(PART 1) )5l desan

Lo 45 58 1= :JJJ v
wAY Ot

Q. No.2 Write short answers any Five of the following

5x2=10 -gf(/;yw‘t ’

l

PHYSICS %

L e

2 & e llite 2 Av

SR o O &

S st SUstint st

Write Si unifs and symbols of the following quantities : Length - Mass - Temperature - Electric current
How many seconds in one year ? Write in Scientific Notation g’.;ef-’).ﬁ% ¢ ;gLniqu.’.dV..ﬂ y

Why passengers standing in a bus fall forward when its driver applies brakes suddenly ?

What is meant by base quantities and base units ? by g!)f&f;ﬂwgl,luuWﬂ r
Define constant speed and \‘Ieriable speed 5 M{J‘U{m@;_‘ﬁ'y r
How can vector quantities be represented graphically ? Y 4.5‘ 'lgk);ﬂq mww;‘:: ]
Define uniform velocity and uniform acceleration ﬁ.bifa’-‘-’)"lpl&(»ld’ﬂspwg b
Define Inertia and momentum FWA | <

? B I SASE Pt ine o b6 L eafib | A

Q. No. 3 Write short answers any Five of the following 5x2=10

- (fo|lR)

Loz fhelilstn 3 A

Differentiate between Like and unlike Parallel Forces

ZEUYIAL N Ll Ey

_&oinig S g A

Define torque and write its Sl unit r
Define rigid body and axis of rétation &@) iwy’!u..lf/‘wdjyiy o
Write two uses of artificial satellites . @ zfa.-..ﬂb"fluf.uvm,fi“ v
On what factors the orbital speed of a satellite depends ? & {f&\ ) q.dx,’%u;ﬂcfgﬁ/gfﬁuﬂd’d W( o
Define work and write its unit in Si P @ !ﬂfd’g#ﬁﬁlﬁqﬂfhﬁ 1
Define power and write its equation N a:!"e.ub-Jmmﬁqf'[ﬁ;g <
Define energy and write name of its two kinds {(})VG)/ 4‘1 uouuwg{ BB A

Q. No.4 Write short answers any Five of t%@%ﬁ% S§x2=10

2 fein]

AL izib e LiLsts 4 A

State Hook's Law @X\) Ko | 1
Define density and write its unit @\) i y ASGH| v
Define defroming force o é..ej{fwi.&m r
Define the term heat and temperature LA duanr | v
How can matter be changed from one state to another ? T t,'.&lykﬁiéﬁcf‘bdﬂeaf‘bu_m:)t 0
Define Evaporation é_yﬂﬂﬁlﬂl ]
What is meant by thermal conductivity ? t e §EUP|
Write down two uses of convection current E.‘!d--uﬁ"luédifw*{f A
(((PART Il ) ps3diaa )
NOTE : Attempt any Two questions from this part 9x2=18 ﬁ(ﬂ&k& aﬂ'n;‘.éfsw BT

Derive third equation of motion with the help of diagram 2‘{ la.uJ
5 t &w}ﬂfgﬂwi_b"aﬁmf 3 ms R L ALl 50 cm

How much centripetal force is needed to make a body of mass 0.5 kg to move in a circle of radius 50
with a speed of 3 ms-1 7

LA 05| (B)

am

atad 27 | (A) -5,

Deflne equilibrium and explain first condition of equilibrium 4

Calculate the power of a pump which can lift 200 kg of water through a height of 8 m in 10 seconds.

ol ARSI Ll pASEASE | (A)-8 A
5 Eobuldot -+ T 6m U 10s 7, 200 kg i | (B)

Define Young's Modulus. Derive the formula and write its unit 4

=9y P ST

How much ice will melt by 50000 J of heat ? Latent heat of fusion of ice = 336000 Jkg-1

. i ek | ()74
5 ¢ 336000 Jkg! = tnfsUEL 1§ v SMELPC L Sppeintz s0000| (B)

16 (Sub)-12021-60000
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fﬂubﬂﬁdbL,Jﬁw;:a;ﬁg:xbéq:&b&&;&@l—dé@ DusA,B,C ehzkilirs ehly
fnzﬂﬂ#ly{lgﬂau‘tﬂ.f/ _JLL./J Usiindekl .A)/a.‘é&
1AJr
3.3 GHz is equal to - eEmiie 3.3 GHz | (1)
3300% 10%Hz (O 3300x10°Hz (O  3300x10°Hz (B) 3300 X 10°Hz (A)
Length of a half circle with radius , r is equal to .;.Jnd:vLJ{JJq. COSANS S | Q)
‘ %nr (D) "—;r(C) rr B) 2mnr (A
Spring balance is used to measure the following UL LS gL s | B
momentum of a body (=¥ (C) weight of a body wik?? (B) massofabody VW? (A
' pressure of a body ##¢% (D)
Inertia depends upon ' et/ A | (D)
mass U+ (D) velocity & (©) et force le%@ Force v4 (A
The value of Sin 60° is equal to dnhieLad Sin 60° | ()
0577 D @5{@0 0707 (B  0.866 (A)
The value of g increases with the % 0 yadd g | (6
increase in altitude <22y %’ ase in mass of the body ;.e_‘aﬂff (A)
decrease in mass of the body Lo (’ (D)  decrease in altitude a.Ln(rdA ©
| The kinetic energy of a body of mass 2 Kgis 257, itss Snbzduig 2517 &)l.&JVJ(’ L(l/ X2 |
mst (D) 25ms' (© 125ms’ (B) Sms’ (A
et Sbw EEAK B rA oo Bsgisr | B
Which one of the following converts light-¢nergy into electncal energy .
electric cell LS (D)  photo cell * 9 (O electric generator x2S (B) electnc bulb WS A (A
thch of the substance is the lightest one .;..d‘a../ () | O
_ Lead .¢ (D) aluminum 2] (©) mercury ¢Sy (B) copper ¥ (A
Water freezes at ' C g ltpohdigE g‘f& ao)
' 32°%F (O -273k © 0k (B) 0°F -(A)
The threat of global warming on our earth is due to the following gas :;...‘.m&ﬂ’ gb.pﬂ-/b’.ﬁbd/gﬂ)d/h an
' Oxygen gas o JF’T (C) Nitrogen gas Ak B Hydrogen gas o Sy (A)
‘ | Carbon dioxide gas w74/ TIBeer (D)
| The SI unit of thermal conductivity of a substance is _ ¢bneiy SI Yo Er) 20eS | (12
wok! @  wmk? (© wm'k' B Wm'k (A
13 (Ob})-12019-60000 (NEW) SEQUENCE -1
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wr a8 120 8= AN bews/ (%) PHYSICS /%
(PART 1) dj“ 2018 -2020 t 2015.2017 : k';rf
Q.No.2 . Write short answers any Five of the following 82 = 10 (o farr/PLvr 8y = utbitw) 2 A
Define Nuclear Physics and Plasma Physlcs &qﬂff;‘tmmﬂﬂi I
What is meant by Kast count of vernier callipers 7 $ el cisadl ) Xk’a r
Define zero correction &ﬂﬂ.{dgﬂ r
Define position Aty v
Defferentlate between distance and displacement o 4’ f: BOAL Y] waf”s 0
Define force and its unit : , &ﬂwg&ww»’ |
State Newton's First Law of motion %yuﬁu‘l’rfﬂ’p}i <
Define mass and write its unit in S.] _ L edut S.Iey U JE| A
Q. No. 3 Write short answers any Five of the following 5x2=10 (égfauz/’&m’ ‘L;gﬁdib.u) 3 A
Define centre of mase and centre of gravity @i&ﬂ&{fd%ﬂm.w“" [
State the principle of moments A\ i‘gydm.’.f”’r r
WhaJt is meant by global positioning system ? ' //(\\\ii & \'q_brk?"' Ji’uu)' r
A machine does 4 joule of work in 2 seconds. Find Its power W\?@;{J@.M&}i 4 Liea2g24| v
Why does the value of g vary from place to place ? /}O&}) f q.(}xu[ Dy Dei gl o
Define power and write Its S| units M@ za.‘d S| b’gﬂ»’%&ﬂfuk Y
Write importance of wind energy @\} 4}.951‘{&}!); Z
If a pump has power of 1120 watt. Convert it into h@%« (hp). . &Mnyw}fm?;wb 1120 ,,;J,,‘.;w A )
Q.No.4 Write short answers any Five of mq@iﬁﬁg 5x2=10 (@5}’:«%}’&@.01/&&:.,;;‘1160) a )i
Define pressure and write it mathemaﬂé@%%ula &#E‘er‘}vf;ﬂulﬁﬂf AR
What is upthrust 7 State principle é&&%@ﬂon ? o tﬂydmﬂ.i T el eS|
What Is Hooke's law ? What is meant by elastic limit 7 § clpfaad Byt ¢ e Sulviy | v
Define the terms heat and temperature ‘ éﬂfab&vl&&ﬁwu r
What is meant by intenal energy of a body ? t ?,)l/ggd/'ufu[fu'{ °
What measures do you suggest to conserve energy In houses ? ¢ LSkl L LWl 3Ly w!| Y
Differentiate between conductors and insulators %QJMWWJ}&( ‘
| How many factors affect thermal conductivity , also write their names g%ﬁul $ U.YZJIIJ_I,L/}P/M po J} A

(L(PARTII ) ppidema )

NOTE : Attempt any Two questions from this part 9x2=18 zéfapzz.;.wmeéfcw Ly

Define centripetal force, derive its equation and give one example 4 @Jg{w@’mmm{w@ﬁyﬂfwimk
5 J'u;éu_;.ley (i) SehwpiesspdSh (1) .{(}v TR I L2 6 Jy IO Ayt g

A cricket ball Is hit vertically upwards and returns to ground 6 S later.
Calculate (i) Maximum helght reached by the ball (i) Initial velocity of the ball

(A) -6,

(8)

Define Equillbrium ? Explain conditions for equilibrium 4 %ym/‘.f (P71 :;e&.y;{,(yd,f I
5 %)‘WA&JJ})C)&AI%PAQJV{{.§WJ 108 FUAGAS 16m A T0kg gl

Calculate the power of a pump which can lift 70 kg of water through a vertical height of 16 meters

in 10 seconds. Also find the power in horse power

(A) -6 2

(B)

Define volume thermal expansion of solid , Derive its formula 4 @J:Jnh’w ¢ el e sl J/ll‘;(.él;ép_l}lw’

7 5 Ao il 042N UKL Fre 0.48 N Wik E Gl lin
The weight of a metal spoon in air is 0.48 N. Its welght in watser is 0.42 N. Find its density

A) -7

(B)
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12= A4S 2018-2020 & 2015-2017

#

/Af.}uw{szxu»eﬁw}uf_tﬂe.devMQu’w-wép DAA.B,C cMRfldrs =4

fm.v‘w.(wuf P! u:u/J i/ 4f .Av'u.f J UsHwidek) =y .Y

1Ay

-Thc least count of Vernier Calliper is (.&'“.‘.r.‘fg #n | (1)
| 0.01 mm (b) o.lem (© 0001mm (B) 0.lmm A

| The S.1 unit of acceleration is ‘ .;..wb’cﬂ)'fl.;s.x @)
s @ ms? © ms' B ms @

The rate of change of momentum is q.b/‘gf&igﬂ(“f i (3)
Distance ok (D) Work oJ (C) Force 24 (B) Torque Sk (A)

The unit of momentum in S.I is ‘ q..b‘ﬂ(‘f rhsi | (@)

Kgms” (D) Kgms® (© NS (B) Nm (A)

The mathematically form of the second condition of equilibrium is’ ;-gp GV Jb/‘d/ ”Jt‘ﬁ'dl' (s)

tw=0 (D) zP=0 (C) tF=0 (B) sr=0 (A)

e Ur AL | (6)

-EE(D).‘M—-B:(C) &B) Me=RE (W
Me-.c €= Ct\(@c e= 7

Power is equal to O{& G-z | (7)
| , N Yo fe Tw

The formula , mass of Earth is

12

. Er gl sl asrt¥ sl fd e mpewiids | (8)

Work will be maximum when the angle between force and di'mem will be
' <&

"y 180° (D) 90° (©)  60° (B) 0° (A)
Volume of one liter is equal to q.bu,l/,rih Hgi | (9
' ' e (B 10cm’ (C)  100cm’-(B)  1000cm’ (A)

Which of the following material has large specificheat . tq,JH’.ﬂ) eirvpdKud | (10)

mercury /7 (D) Water L)£ (C) iceds (B) copper 4K (A)

False ceiling is done to | ' ol ey Sungs= | (11)

Keep the roofclean lodefaqg (B) Lowerthe height of ceiling tf( JVMJ ag(A)
insulate the ceiling £/ wdP 1/ eg (D) Cool the room tSis e SO

The thermal conductivity of copper is q_&é( 28| 12)

s0wm'k' (@ 300wWm'k' (© 200wm'k' (B) 100 wm™'k” (A)
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¢
12019 ¥ ¢ [)[/Z’(/Z//(/3

wras o 1=y a8=A) /) | @ gt/ (i)  PHYSICS V%,

5 4?PJJq_gf bt relpie sy 15 ms™ ALLeS 500| (B)
5500 g stone Is thrown up with a velocity of 15 msV. Find its &/".ﬁéfé}Ll);—ufJ (i) &/’IJ“V“{W}A {)]

(i) P.E at its maximum height (I) K.E when it hits the ground

(PART ) gl deme 2018-2020 t 2015-2017 ° L
@ No.2 Wite short answers any Five of the following B 2=10 (b foyn Pty B e filil0) 2 A
Convert 12 years into seconds Q#MV 121 !
Define least count and write the least count of Metre rule ' zf.»;sr s le)(»i#ﬂfw farsd| ¥
What is digital stopwatch ? Write its least count ¢ e YefuN &V Bt S| T
Differentiate between distance and displacement ' 4}&0}& m:l.bi r
¢ JxWJJJfQ{JKLbLJM;.};JﬂJ{, 0
What would be the shape of speed-time graph of a body moving with variable speed ?
Describe two situation In which force of friction Is needed ? T {—au-ws/'d‘gfr MJ-@@MAI» 1
What is difference between sliding and rolling friction 7 &M},Uf )Jw:l..f | 4
Why is It dangerous to travel on the roof of bus ? ¥ q;tn-f E)‘Ua.f t/}'(,a-( S| A
Q.'No. 3 Write short answers any Five of the following 5x2=10 (&/avzﬂé.pmr ﬂa.-uﬁsb{w) 3 AN
State first condltloﬁ of equillbrium. Write its mathematical formula :g‘bnsqwuwaﬂ-m,‘&&ydf fnt
Why the helght of vehicles is kept as low as possiblo 7 _ ¢ e e SenSust| ¥
What is meant by gravitational constant 7 What Is Its value in Sl .;.a’;z Jmﬁgf{\@)&@ ¢ q.JWbMJ” -d(/ r
Why does the value of " g " vary from place to place ? (\ (99‘) .;.Jnuz(..ﬂ;u}mﬂﬂ—z g Ug”lr
Differentlate between artificial and natural satellite %\%S) %JM& wrliimgs~| o
Why fossils fuels are called non-renewable form of energy ? M@ T .i..n,tfu{ ftﬂﬂ&fdilfﬂd’ 1R
Write down two causes of thermal poliution [\@\} @y,ym&ﬁgd} P2
What Is meant by Mass-Energy equation 7 A\ 0\? g .;..:W:..rfbv&i‘m A
Q.No.4 Write short answers any Five of m@%‘ﬁg 5x2=10 ( ferpPLlatrbie Sdibs) 4 207
sﬁu Young's modulus and write its fp@y i : - a)ﬂﬂ’wm%bu)“;ﬁirﬁ !

Find the volume of 200 g of lead shmng density 11300 kgm? & 11300kgm™ ﬁng}r@x‘_ng 200| r
What is difference between upthrust and principle of floatation ? T {_J}yfgtdfﬁi.lalwﬂdl{l r
Define latent heat of vaporization and write its unit K{“&tb’u’bﬂ&ﬂw sk |~
Convert 20 °C on celslus scale into kelvin scale , 4&#;}:‘;&.’7 20°C {gk‘\ﬁk 0
What causes a glider to remain in air ? T {-k@.’W'ﬂLdél‘ 1
Define thermal conductivity M‘I a2
Why are metals good conductors of heat ? ¢ O I IE e | A

; (C (PARTII )ppidsan )

NOTE : Attempt any Two questions from this part . 9x2=18 4:, },,wgg_.,mn,‘_dff_w )

Derive the first equation of motion with the help of speed-time graph 4 @f‘élal,v&ﬂfwg.,“f_uff:g; (A) -5 Ay
st butocnin § 20N ALL S 2ns SALAS | (@)

How much time is required to change 22 NS momentum by a force of 20 N

State'and explain resolution of forces 4 z-:"yuwz@y 73..";-}2::4; (A) -6 /.U'!’

Derive an equation L'=Lo (1 +oC AT) In linear thermal expension in solid and define coefficient of linear thermal

expension from this equation

i dd e o B Lot f..&ird 73 l‘l{:(l.“o 20000 N . 30 cm KUJ(WJ@(JH¥§ (B)

4 4’4}&!..;&111&51“&).—_.;&%:';{1;1 L=lo(1+0CAT) wblasSAlbALA | (A) -7 Ay
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Crur sl 2 ui:iu:.:u)'J L/Q/n-‘a (QL/{J(U;;') whicLl- 4’3/:_.‘,55)3 W

14

Least count of vernier callipers is: N ] J}('.'u -1
0.001cm (D) 0.1cm (C) 0.01mm (B) 0.01cm (A)

Falcon can fly at a speed of: -q_A:{JLJ’fL,«W -2
400 km h-! (D) 300kmh . (C) 200 kmh1 (B) 700kmh? (A

The force that oppose motion of a body: ks -q.ngfcf‘/J(;'zw}u -3
Momentum qur‘ (D) Work J» (C) Friction tf;’ (B) Power ui(A)

The S.1. unit of weight is: ey Sl KU -4

Joule Jz (D) NM % (C) Kilogram (¥ (B) Newton o (A)
e Y THAY; 3 e 3L s St b -5
The number of forces that can be added by head-to-tail rule. @
Any number w33 o)  Four J&%{}@hree £ (B) Two » (A)
< e SLMES -8

Radius of earth is: @%

6.6x 10’ m (D) 6x10%m '6.4x106km (B) 6.4x10°m (A)

The S. I. unit of work is: @ -ey Sl £ 7
Volt 2 ‘Meter % (C) Joule Jz (B) Watt &b (A)
The formula of kinetic energy is; q.U:’M’&/'l..@Jb’ -8

mv (D) 1/2mv? (C) mgh (B) mvir (A)

Which of the substances is the lightest one? ?q_‘ﬂc_.../ (=lss) :‘..ojf -9
Lead = (D) Aluminium (%  (C) Mercury ¢/7 (B) Copper (¥ (A)

Which of the following material has large specific heat ? ?‘;JH’.’;}@/V»LJ‘J_ }“Uf -10
Mercury /7 (D)~ Water dl'. (C) lce Jz (B) Copper 4§ (A)
eI et BVEsuA L L e 2x 108K =f Set @l sut sl e Al 11

What will be the value of B for a solid for which oC has a value of 2x 105K 2

g x101°K1 (D) 8 x10° K1 (C) 6x105K1 (B) 2x105kT (A
In gases heat is mainly transfered by 4.urb’ajliJli'5l}.:LJ¢ /f =12

Convection %7 (C) Conduction e (B) Molecular collision s FA (a)
Radiation 2§/ (D)

)7 13 (Obj) 12018 - 50000 (NEW) SEQUENCE - 1
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w45 25 1= ‘ag= AN Sl (Ud) lb’..«:/ 7
; (PART 1) Jyl deas 2017 - 2019 & 2015 - 2017 : %
Q.No.2 Write short answers any Five of the following 5x2=10 (4{//.;&'3/"‘2::,0!" &,Lf.ufdizw) 240
Define Plasma physics and Geophysics -gquJ'} ;:_?ulg/} |t

EOWpLT LS S5 1

What is the difference between electronic balance and physical balance?

- - v
How digital stop watch is used.? ‘ ?q-dl,'tfd‘f"" 4@"7&%1 r
. . M . g’ . .J 4 s | .. /( ‘y
Define circular motion and random motion. -GBS RISy
What is the differences between uniform and variable speed? S O L dr /B g sl SIS | ©
What is banking of road and what is its advantage ? %..u’ﬁ_lfb"ﬂul?q.ﬂ/g; 300 STEE| Y

-ZOJWI.QVJIJ,I+r/r( {'J,o,‘f;:/' ﬁ/ P
What is the principle of cream separator and write its one use.

-4 EhessSJBIALS S s | A

Differentiate between action and re-action with the help of example.

Q. No. 3 Write short answers any five of the following 5x2=10 (e feiz L2ty e Litn) 3 A
Define Like Parailel forces and moment arm -4]4/{(vjfyr/,r7,;JmJu I

- E.‘?:a ’J\/QVJJL é{_.i_’/(fi}‘d/» Jf:ﬂd)gl r

Define second condition for equilibrium.Write its mathematical equation.

State Newton's law of gravitation. ' &C%d&xw’ﬁ'ﬂﬁd!/ K| r
What is global positioning system? A ACQ) ?q.rﬁg("’ﬂr‘i/‘{g};‘ e
What are artificial satelltes? O(\Q{?$ Sl S| o
Define work, Write its mathematical equation. 1 @ -é:o.::bqucfw. 2{_4/.‘.‘;..6: 1
Define energy.Write its S.I. unit. Q\W -’4!0._';( S.I. b.’JLF.‘_,{Jde}! &
Define power.Write its mathematical equation. <®§U _.'A,'U.-,uv‘}qu. 2}-{_?/7&:{ A

> = — ;
2.No.4 Write short answers any five of the M@g 5x2=10 ('qt-ﬁi.:.;lz/‘?é..-.uw@;_‘;q,a») 4t )y

Define stress and write its unit. @ -é-‘—'odj!(tﬂ/" 3‘;{—“/7&1)/ !
State Hooke's law. @ :;{uhuib‘b’.{ r

Why does atmospheric pressure vary with height? ?q.t'nJyu[IVLd)/zJ/’U'-l r
What is difference between heat and temperature? ?ﬁ:-d/‘:rutlv:‘;ﬂw: ~
Define internal energy of a body. ;éf(dﬁJ&}’Jf'erJr o
Define thermal conductivity. ~#€/‘7ijny/’ 1
What is greenhouse effect ? : ‘ ?q.-l,«(&-?’-‘df&q/ Z
How does heat reach us from the sun? ?+Gégéjfcbjr¢/l/
(PART Il ) p g3 deman
{0TE : Attempt any Two questions from this part 9x2=18 ff;yzé.-.wmc.élc_‘;yw tLd
Derive second equation of motion graphically, 4 = Blc-_uy(..iif:—bl/d/»d/:f/ (A) -5

5 an:.,,,afJ/}L?’.{_LL(,LJ)&,mg;‘ﬁ/:fé 2ms2 /120 N wsk” L (B)

A body has weight 20 N.How much force is required to move it vertically upward with an acceleration of 2 ms-2

Zxplain two major non-renewable sources of energy 4 4:-291 Jébi 245 SOt ezl 3/ (A)-6
5 -z_s-fpl-‘.ﬁe i rnige KL 5N —¢ 16 Cm i XSS LZL NS (B)

The streeing of a car has a radius 16 cm.Find the Torque produced by a couple of 50 N.

4 ch,yu:q_r'cnﬂ'ﬂ}l{b AOSE Py atefe 3L gf_g ASFmgt (A)-7

Jefine eveporation.Explain any three factors which effect the rate of evaporation.

e EBSS e 850 g N L ILGHALL T 40 om x10 om x 5 em ()

\ wooden block measuring 40 cm x 10 cm x § cm has a mass of 850 g. Find the density of wood.
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12= A, er15=2% a g e e 2017 - 2019 U 2015 - 2017 u"u‘ip

S { D ST T u:/'bé‘: é—)&bﬁdlr/:{dﬁli-u! éé—)DJJ’C,B,Ab“ﬁ,ﬁJ&LJ')’/{ W2
. (mﬁwvmw&‘; e, L[‘/Jab’ LL/.’;JO:}I:»&J;.{L @/egﬁ&/jl.{

124"
S.1. Unit of amount of substance is: & Sl Lends -
Mole J» (D) Newton ¢ (C) Kilogram (L%  (B) Gram S (A)
72Km h-1 = 72Km h'l= -2
200ms' (D) 3dmst (C) 10 ms!  (B) 20ms? (A)
Fe= Fe= -3

mv? /r2 (D) mv2r (C) mvr (B) mvirZ (A)
eed (1) P STesdilopenlsutlare -4

The value of coefficient of friction ( i ) between tyre and wet road is
09 (D) 08 (C) 06 (B) 0.2 (A)

The value of Sin 90° is e=ddsing0® -5
0707 (D) 0.5 (C) (B) zero (A

The value of 'g' at the surface of moon is @ -z Jg’ 4&,( iy -6
0.16 ms2 (D) 1.69ms? (C) ms2 (B) 1.62ms?2 (A)

NS Tt GuS T T

If the velocity of a body becomes, double then @tlc energy
becomes double “:.db $ ) remains constant q..G"/_‘ﬁf"f (A)

becomes half &L —id (D) becomes four times q..al.m L'«Cl" (C)
-q_t':t,:,vljuk/)[—.l-'ﬁu'w}_'—’.(ﬂ}‘uﬂ; -8

The work done will be zero n'the angle beween the force and distance is
180° (D) 0% (C) 60° (B) 45° (A)
The ratio between stress and tensile strain is called q,Jufc.a,Juyqu /‘J”H’ul‘ﬁ/‘f -9

Bulk modulus g (B)  Elastic modulus U3t k! (A)
Young's modulus u’hL:ﬁ-(D) Shear modulus J:}L }:’(C)

Latent heat of fusion of ice is ' -q..-.w!/(ﬁ,(ﬁh&f -4 -10
2.26 x 105J Kg-! (D) 3.36 x105JKg™!  (C) 3.36x10°5J Kg! (B)2.36x105JKg™' (A)

e Lot Nad ALt L o as st -1

The coefficient of linear expansion and coefficient of v

olume expansion are related by

wetian B=3x (D) P=4x (C) ~P=2x (B) x=3B (A)
Best reflector of heat is | 4_“-;0—5"‘.): Hesr =12
coloured surface f ‘,Cg (B) dull black surface 5 .ydm,_ (A)
shining silvered surface 5 G}‘}u‘? (D) white surface 5 4~ (C)
15 (Obj) - 12018 - 50000 (NEW) SEQUENCE - 1
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(PART 1) (Jy) e 2017 - 2019 & 2015 - 2017 kf"’(ﬁ;

Q.No.2 Write short answers any Five of the following 5x2=10 (45}:,;13/‘3’[..-,1”,« ég:,U:J_JZ-,») 2 A
[

Write two important parts of vernier callipers. -&t&u/{”»&) s
Express the following numbers in scientific notation. _4{uy¢ﬁ)ﬂv£lﬂl£§.; r
(i) 0.00045 (i) 384000000 (i) 0.00045 (i) 384000000
Define prefixes and give an example -43.)@1:14.2/7;! /%4 r
Differentiate between rotatory and vibratory motion -4 5 BIAL deﬁ.ﬁ 190 '/-‘.u ”
Define random motion and write its example. -@J(‘/»lé.—yﬂfcf/(k/ o
Differentiate between mass and weight. ..#/ 5 OALWssJL | Y
Why friction opposes motion? Q—JGJU[)’J!‘&;’ &
Write two dis-advantages of friction. -’4’0 .;cu’»‘»&i‘;" A
Q. No. 3 Write short answers any five of the following 5x2=10 (4(fay'£/ﬂ£.:.v!r é&;uﬁdj 3s)3 /.‘.U!r
Define rigid body. -4’ ._yﬂ!dmp 1
What is meant by first condition of equilibrium? ?q—:l/\[c.i/‘&ﬁ,(ﬁﬁ.‘f I
What is field force? te_dn/ W | T

-4_:)142.@/&;;‘;‘1),2“.,»@.42‘,6Z;,gtm, r
What is distance from earth to moon and in how many days moon complete one cycle around
the earth?

What is the distance of geo stationary setellite from earth and its speed with respect
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to earth? "
> .
Define potential energy and write its equation. y @» -4? @bl//:'éf..i_!ﬂfd/l;}’% |
\\’}b g sl &
What is meant by biomass energy? ?q.,wf.:, EAJEY

2o\
What is unit of power? Define it . B <0>u -4{.& }qu_y(.wb’»; A
Q.No.4 Write shortanswers any five ofé@%ﬁ%\@ing 5x2=10 (ggfay!z,ﬁéauuréga,‘;‘bw) 4 S

State Hooke's law. (@S\) _@bg}lﬂ_{ !
State Young's modulus Q\}\) -a{uyu’:ﬁrzﬁ- r
What is barometer and define strain. -4{4’ /Uc[ Vs z:lq_btk(}-'-'w r
Differentiate heat and temperature. -@-@L«J}uyj;ﬁ,{yf}ﬂ:‘zl} r
Defne evaporation. -2{-‘2’/7&;?'/5!' o
Define convection. -4:1_7Uu’£/ b
Define radiation. ) -’4{4}%&4'&/ Z
What is greenhouse effect? s‘q_wﬁumm/ A
(PART Il ) g3 4eman
NOTE : Attempt any Two questions from this part 9x2=18 é}aytzéammcéfc.‘;mm P s
Derive second equation of motion with graph. S =Vit+ 1/2 at? é&le:;gf._ilf.:.i:l/-d/»;{&r (A) -5
5 e iad LLnr 2 K Sl 7e§1s6 10 ms1 (ALK s (@)

A body of mass 5 kg is moving with a velocity of 10 ms-1 Find the force required to stop it in 2 seconds.

Define potential energy and derive its mathematical relation 4 -4’ BIJ"BVW%)'@:&'}J&/'! JAQ A) -6
5 -4?)-'..63 uuLnu,qc.J:(L 50N - 16 Cm‘ﬁézb")-’,iff’élwr (B)

The streeing of a car has a radius 16 e¢m.Find the Torque produced by a couple of 50 N.
Explain Celsius scale and Fahrenheit scale with the figures 4 4(.:)&:0/ ;):C Mu:b‘»ld:c Jfkd’lrﬁdh’}l A) -7
5 o dn 2.55 gem SIS BBy UL L 1s-g-306 g A ALLEELL 322575 (B)

A cube of glass of 5 cm side and mass 306 g , has acavity inside it,if the density of glass is 2.55 gcm'3 .

Find the volume of the cavity. / ') DoKX 9- o 'S



